S S S S S
HI{FEIR 7 + 0V L ICBB A — b 7w 277 1 v 7' [Verl.0] 20205

OBJMUN12_12=10; //ta 3% =

var OBJNUM1=12;//12 & 1 ta i KI5
var OBJNUM2=11;//12 (& 2 ta i KF%K
var OBJNUM3=11;//12 t 3 ta i KFIEL
var OBJNUM4=11;//12 {1 4 i K%K
var OBJNUM5=11;//12 4 5 ta i KFI#L
var OBJNUM6=11;//12 1 6 taim KFIEL
var OBJNUM7= 6;//12 1 7 (i RAEL
var OBJNUMS= 6;//12 1 8 (i KAIEL
var OBJNUMO= 6;//12 1 9 i KAEK
var OBJNUM10=5;//12 t& 10 a5 K314
var OBJNUM11=5;//12 t& 11 ta i RI4K
var OBJNUM12=3;//12 t& 12 ta i KI4K

set_path="D:¥¥ tori¥rcopy05¥¥10¥¥"; // N v F 7 7 A MEI 7 + L &
readFileName="datal0.txt"; //FtHATL T — & 7% X b
partsColorAllNum=>55; //&E & b+ HU O #EL

/111171111111111111111117
[/ EEEREL 0

/111717717177171771117717
//<1>

//1(1)<1>

var OBJMUN12_10_001=6;

var OBJMUN12_10_001_01="10_001_01";
var OBJMUN12_10_001_02="10_001_02";
var OBJMUN12_10_001_03="10_001_03";
var OBJMUN12_10_001_04="10_001_04";
var OBJMUN12_10_001_05="10_001_05";
var OBJMUN12_10_001_06="10_001_06";
var OBJMUN12_10_002=3;

var OBJMUN12_10_002_01="10_002_01";
var OBJMUN12_10_002_02="10_002_02";
var OBJMUN12_10_002_03="10_002_03";
var OBJMUN12_10_003=1;



var OBJMUN12_10_003_01="10_003_01";
//2(1)<1>

var OBJMUN12_10_004=3;

var OBJMUN12_10_004_01="10_004_01";
var OBJMUN12_10_004_02="10_004_02";
var OBJMUN12_10_004_03="10_004_03";
var OBJMUN12_10_005=1;

var OBJMUN12_10_005_01="10_005_01";
//3(1)<1>

var OBJMUN12_10_006=1;

var OBJMUN12_10_006_01="10_006_01";
//1~3(1)<1> 15 8% —v

//4(2)<1>

var OBJMUN12_10_007=3;

var OBJMUN12_10_007_01="10_007_01";
var OBJMUN12_10_007_02="10_007_02";
var OBJMUN12_10_007_03="10_007_03";
var OBJMUN12_10_008=1;

var OBJMUN12_10_008_01="10_008_01";
//5(2)<1>

var OBJMUN12_10_009=1;

var OBJMUN12_10_009_01="10_009_01";
//4~5(2)<1l> 5% —v

//6(3)<1>

var OBJMUN12_10_010=1;

var OBJMUN12_10_010_01="10_010_01";
//6(3)<1> 18%—v

117117771777177117171717
// 1~ 3(1)<l> 15 8% —v
// 4~ 5(2)<1> 53x—v
// 6(3)<l> 18—V
// (D~@3)<l> 21 5%x—v
[117117711771177117711777

/111117711117111711111177
//<2>

//7(1)<2>
var OBJMUN12_10_011=3;



var OBJMUN12_10_011_01="10_011_01";
var OBJMUN12_10_011_02="10_011_02";
var OBJMUN12_10_011_03="10_011_03";
var OBJMUN12_10_012=1;
var OBJMUN12_10_012_01="10_012_01";
//8(1)<2>

var OBJMUN12_10_013=1;
var OBJMUN12_10_013_01="10_013_01";
// T~ 8(1)<2> 5.%&%—v

//9(2)<2>

var OBJMUN12_10_014=1;
var OBJMUN12_10_014_01="10_014_01";
//9(2)<2> 1% —v

1177171177111171711117117
/] T~ 8(1)<2> 58%—v
// 9(2)<2> 1% —Vv
/] (D~(@2)<2> 682 —v
111717117711117711117117

/111171111111111111111117
//<3>

//10(1)<3>

var OBJMUN12_10_015=1;
var OBJMUN12_10_015_01="10_015_01";
//10(1)<3> 1 X% —v

/117777777177717117111117
// 10(1)<3> 1 X%x—v
// (1)<3> 184 —v
/117777771171111711111117

/177777717777111171711111717

// (D)~B)<1> 21 X&x—Vv
/) (D)~(2)<2> 6% —v

// (1)<3> 1Nk —Vv
/) <1>~<3> 28 VK — Vv
/S ——

/1777777177171111711111171/



/111171171171171111111117
//<4>

//11(1)<4>

var OBJMUN12_10_016=3;
var OBJMUN12_10_016_01="10_016_01";
var OBJMUN12_10_016_02="10_016_02";
var OBJMUN12_10_016_03="10_016_03";
var OBJMUN12_10_017=1;
var OBJMUN12_10_017_01="10_017_01";
//12(1)<4>

var OBJMUN12_10_018=1;
var OBJMUN12_10_018_01="10_018_01";
//11~12(1)<d> 5382 —v

//13(2)<4>

var OBJMUN12_10_019=1;
var OBJMUN12_10_019 01="10_019_01";
// 13(2)<4> 1% —v

s
//11~12(1)<4> 5% — v
// 132)<d> 1% —v
/] ()~(2)<4> 682 —v
/111111111111111171111117

/111717717177111711111177
//<5>

//14(1)<5>

var OBJMUN12_10_020=1;
var OBJMUN12_10_020_01="10_020_01";
// 14(1)<5> 184 —v

/1111177717711771171117177
// 14(1)<5> 1% —v
// (D)<5> 13—V
[117117771777177117111717

/1177777717717111711111171/



/] (D)~(2)<4> 6 %% — v

// (1)<5> 1% —v
// <d>~<5> TR —
[frmrmrmnenmemen e

[17111110777777771111177777

/111171171117171111111117
//<6>

//15(1)<6>

var OBJMUN12_10_021=1;
var OBJMUN12_10_021 01="10_021_01";
//15(1)<6> 1 X% —v

/111171171111111111111117
// 15(1)<8> 18%—v
// (1)<8> 1% —V
/111177771111111711111117

[17111110777777711111777777

// (D<6> 15%2—v
// <6> 1% —v

/17111117777777711111771717

/111717771177111711117117
//<T>

//16(1)<7>

var OBJMUN12_10_022=3;
var OBJMUN12_10_022_01="10_022_01";
var OBJMUN12_10_022_02="10_022_02";
var OBJMUN12_10_022_03="10_022_03";
var OBJMUN12_10_023=1;
var OBJMUN12_10_023_01="10_023_01";
//17(1)<7>

var OBJMUN12_10_024=1;
var OBJMUN12_10_024_01="10_024_01";



//16~17(1)<7> 53%—v

//18(2)<7>

var OBJMUN12_10_025=1;
var OBJMUN12_10_025_01="10_025_01";
// 18(2)<7> 1% —v

111777117711117711117717
//16~17(1)<7> 58X —v
// 18(2)<7> 18—V
/] (D)~(2)<7> 62—
1117171177111177711117717

/111171171117171111111117
//<8>

//19(1)<8>

var OBJMUN12_10_026=1;
var OBJMUN12_10_026_01="10_026_01";
//19(1)<8> 184 —v

/171111171117771111171177
// 19(1)<8> 1 %% —v
// (D<8> 15—V
/1711111711177711111717177

[17111111077177717111177717

S —
// (D)~(2)<7> 6% —V
// (1)<8> 1% —v
/] <T>~<8> ToXE—V
S —

/117777771777711117111111711

/111117711177111771117117
//<9>

//20(1)<9>

var OBJMUN12_10_027=1;
var OBJMUN12_10_027_01="10_027_01";
//20(1)<9> 1 X% —v



1117071177111177711117717
// 20(1)<9> 1-%%—v
// (1)<9> 1-%x—v
11177711771111777111177717

/11111110777777771111777777

S ——
// (D<9> 185 —v
// <9> 1 X%x—v
S ——

/17111110777777777111777777

/111171111111171111111117
//<10>

//21(1)<10>

var OBJMUN12_10_028=1;

var OBJMUN12_10_028_01="10_028_01";
//21(1)<10> 1% —v

1117171177111177111171717
// 21(1)<10> 182 —v
// (1)<10> 1%%—v
/111717117711117711117117

/11777777177771111111111111

[[-mmmmm e
// (1)<10> 1% —v
// <10> 1¥x—v
[[-mmmmmm e

/11777777177771111111111711

/111117717177111771117117
//<11>

//22(1)<11>

var OBJMUN12_10_029=3;

var OBJMUN12_10_029_01="10_029_01";
var OBJMUN12_10_029_02="10_029_02";



var OBJMUN12_10_029_03="10_029_03";
var OBJMUN12_10_030=1;

var OBJMUN12_10_030_01="10_030_01";
//23(1)<11>

var OBJMUN12_10_031=1;

var OBJMUN12_10_031_01="10_031_01";
//22~23(1)<11> 5 X% —v

//24(2)<11>

var OBJMUN12_10_032=1;

var OBJMUN12_10_032_01="10_032_01";
//24(2)<11> 1% —v

111717117711177711117117
//22~23(1)<11> 5 3% —v
// 24(2)<11l> 1% —v
/] (D~2)<11l> 6% —v
111777117711117711117117

/111171111117111111111117
//<18>

//25(1)<12>

var OBJMUN12_10_033=1;

var OBJMUN12_10_033_01="10_033_01";
//25(1)<12> 1 X% —v

/111711117111177111171117
// 25(1)<12> 18%8—v
// (1)<12> 1% —Vv
117117771777177117111717

/117777771777711171111111717

[/
/) (D~@2)<11> 6% —v
// (D<12> 13—V
// <11>~<12> AT R
[[-mmmmmm e

/117777771771711117111111711

/117777771171711711111117



//<13>

//26(1)<13>

var OBJMUN12_10_034=1;
var OBJMUN12_10_034_01="10_034_01";
//26(1)<13> 182 —v

111717117711117711117717
// 26(1)<13> 18%—v
// (D<13> 12—V
1177171177111177711117117

/17111110777777777111177717

S —
// (D<13> 15%x—v
// <13> 1% —Vv
S —

/17111111777777717111177777

/111171171117171111111117
//<14>

//27(1)<14>

var OBJMUN12_10_035=1;
var OBJMUN12_10_035_01="10_035_01";
//27(1)<14> 1 X% —v

/111711117711117111177117
// 27(1)<14> 13—V
// (D<14> 1 3%x—v
[1111177171771177117111717

/11777777117777171117111111717

[[-mmmmmm e
// (D)<14> 18%2—v
// <l4> 1 Xx—=v
[/ e

/17777771771711117111111711

/117777771171711711111117



//<15>

//28(1)<15>

var OBJMUN12_10_036=1;
var OBJMUN12_10_036_01="10_036_01";
//28(1)<15> 1,82 —v

111717117711117711117717
/] 28(1)<15> 1.8%x—v
// (<15> 18—V
111777117711117711117717

/71111107777777111111777177

S —
// (D<15> 15%2—v
// <15> 1 X% —v
S ——

/17111111777177711111177777

/111171171117111111111117
//<16>

//29(1)<16>

var OBJMUN12_10_037=3;
var OBJMUN12_10_037_01="10_037_01";
var OBJMUN12_10_037_02="10_037_02";
var OBJMUN12_10_037_03="10_037_03";
var OBJMUN12_10_038=1;
var OBJMUN12_10_038_01="10_038_01";
//30(1)<16>

var OBJMUN12_10_039=1;
var OBJMUN12_10_039_01="10_039_01";
//29~30(1)<16> 5 %X —v

//31(2)<16>

var OBJMUN12_10_040=1;
var OBJMUN12_10_040_01="10_040_01";
//31(2)<16> 18—

/177771711771711771111117
/] 29~30(1)<16> 5-%%—v



// 31(2)<16> 1% —v
/) ()~(2)<16> 6% —v
/111717711171111711111117

/111171171117171111111117
//<17>

//32(1)<17>

var OBJMUN12_10_041=1;
var OBJMUN12_10_041_01="10_041_01";
//32(1)<17> 152—v

[111111771111111711111117
// 32(1)<17> 18&x—v
// (1)<17> 12—V
[111177771111111711111117

[7111711777777717111177717

//(D)~(2)<17> 6% —v
// (D<17> 1%k —v
//<16>~<17> TR —

[17111110071777111111117777

/111171171111111111111117
//<18>

//33(1)<18>

var OBJMUN12_10_042=1;
var OBJMUN12_10_042_01="10_042_01";
//33(1)<18> 1% —v

/111177777171711111171177

// 33(1)<18> 1-%%—v
// (1)<18> 1%&x—v
/111171771171711111171117
/11117117717171111111111117

// (D<18> 1-%%—v



// <18> 1k —v

7111110777777771111177777

/111171177117171111111117
//<19>

//34(1)<19>

var OBJMUN12_10_043=1;
var OBJMUN12_10_043_01="10_043_01";
//34(1)<19> 182 —v

111717117711117711117717
/] 34(1)<19> 1 8% —v
// (1)<19> 1%%—v
111717117711117711117717

/111171111117111111111117
//<20>

//35(1)<20>

var OBJMUN12_10_044=1;
var OBJMUN12_10_044_01="10_044_01";
//35(1)<20> 1% —v

/117717117711117711117117
// 35(1)<20> 1-%%—v
// (1)<20> 1% —v
1171177117771771171717177

/117777771777711117111111711

S —
// (1)<20> 18%x—v
// <20> 1 X%—v
S —

/11777777177771111111111711

/117117711177111771117117
//<21>



//36(1)<21>

var OBJMUN12_10_045=1;

var OBJMUN12_10_045_01="10_045_01";
//36(1)<21> 182 —v

117777117711117711117717
// 36(1)<21> 18%2—v
// (D<21> 18—V
117777117711117711117717

/7111110777777777111177777

[/=mmmmmmmmm e
// (1)<21> 18—V
// <2l> 12Xk —v
—

/17111110777777777111177777

100007770777 170777777701117077777711111777717777171117

[I1177111111111117177777717
//10
[1171111117111177711717117
var j_m=0;

var num=0;

objnum_index=0;
objnum = new Array;
objnum=[OBJMUN12_10_001,0BJMUN12_10_002,0BJMUN12_10_003,0BJMUN12_10_004,0BJMUN12_10
_005,

OBJMUN12_10_006,0BJMUN12_10_007,OBJMUN12_10_008,0BJMUN12_10_009,0BJMUN12_10_

010,

OBJMUN12_10_011,0BJMUN12_10_012,0BJMUN12_10_013,0BJMUN12_10_014,0BJMUN12_10_
015,

OBJMUN12_10_016,0BJMUN12_10_017,O0BJMUN12_10_018,OBJMUN12_10_019,0BJMUN12_10_
020,

OBJMUN12_10_021,0BJMUN12_10_022,0BJMUN12_10_023,0BJMUN12_10_024,0BJMUN12_10_
025,

OBJMUN12_10_026,0BJMUN12_10_027,0BJMUN12_10_028,OBJMUN12_10_029,0BJMUN12_10_
030,

OBJMUN12_10_031,0BJMUN12_10_032,0BJMUN12_10_033,0BJMUN12_10_034,0BJMUN12_10_



035,

OBJMUN12_10_036,0BJMUN12_10_037,0BJMUN12_10_038,0BJMUN12_10_039,0BJMUN12_10_
040,

OBJMUN12_10_041,0BJMUN12_10_042,0BJMUN12_10_043,0BJMUN12_10_044,0BJMUN12_10_
045

objnum_st = new Array;
objnum_st=[
OBJMUN12_10_001_01,0BJMUN12_10_001_02,0BJMUN12_10_001_03,
OBJMUN12_10_001_04,0BJMUN12_10_001_050BJMUN12_10_001_06,
OBJMUN12_10_002_01,0BJMUN12_10_002_02,0BJMUN12_10_002_03,
OBJMUN12_10_003_01,
OBJMUN12_10_004_01,0BJMUN12_10_004_02,0BJMUN12_10_004_03,
OBJMUN12_10_005_01,
OBJMUN12_10_006_01,
OBJMUN12_10_007_01,0BJMUN12_10_007_02,0BJMUN12_10_007_03,
OBJMUN12_10_008_01,
OBJMUN12_10_009_01,
OBJMUN12_10_010_01,
OBJMUN12_10_011_01,O0BJMUN12_10_011_02,0BJMUN12_10_011_03,
OBJMUN12_10_012_01,
OBJMUN12_10_013_01,
OBJMUN12_10_014_01,
OBJMUN12_10_015_01,
OBJMUN12_10_016_01,0BJMUN12_10_016_02,0BJMUN12_10_016_03,
OBJMUN12_10_017_01,
OBJMUN12_10_018_01,
OBJMUN12_10_019_01,
OBJMUN12_10_020_01,
OBJMUN12_10_021_01,
OBJMUN12_10_022_01,0BJMUN12_10_022_02,0BJMUN12_10_022_03,
OBJMUN12_10_023_01,
OBJMUN12_10_024_01,
OBJMUN12_10_025_01,
OBJMUN12_10_026_01,
OBJMUN12_10_027_01,
OBJMUN12_10_028_01,
OBJMUN12_10_029_01,0BJMUN12_10_029_02,0BJMUN12_10_029_03,
OBJMUN12_10_030_01,
OBJMUN12_10_031_01,
OBJMUN12_10_032_01,



OBJMUN12_10_033_01,
OBJMUN12_10_034_01,
OBJMUN12_10_035_01,
OBJMUN12_10_036_01,
OBJMUN12_10_037_01,0BJMUN12_10_037_02,0BJMUN12_10_037_03,
OBJMUN12_10_038_01,
OBJMUN12_10_039_01,
OBJMUN12_10_040_01,
OBJMUN12_10_041 01,
OBJMUN12_10_042 01,
OBJMUN12_10_043 01,
OBJMUN12_10_044 01,
OBJMUN12_10_045_01

numlZ = new Array;

num12=[0,0,0,0,0,0,0,0,0,0,11,12]; // #*5 ON/OFF Z %
set num="";//7 A NKXELIEMT 74 L
[77771177111111111111117

var fs = WScript.CreateObject("Scripting.FileSystemObject");

var file2 = fs.OpenTextFile(readFileName, 1); //7 7 4 /Lt HiA A
var str = new Array; // 1 7 4 V¥&#HHECH

var str2 = new Array; // 1 7 4 ¥ 53 BRI

st_index=0; // 7 # V X LEHNA v F v 7 &
objnum_index=0; //7 7 A XZDFF v X—=KA v F v 7 R
for(vi=0;vi<partsColorAllNum;vi++) // D KEE N — 73 %
{

str = file2.ReadLine(); // 1 7 4 v ¥&#H

str2= str.split(","); // 1 7 4 v 5 D 53 BEZ AN

for(ii=0;0bjnum[objnum_index]>ii;ii++)
{

//IXCDITRET 28 e &4 71cT 5

numl12[0]=1;

numl12[1]=2;

numl12[2]=3;

num12[3]=4;

numl12[4]=5;

numl2[5]=6;

numl2[6]=7;



numl2[7]=8;
num12[8]=9;
num12[9]=10;
numl2[10]=11;
numl2[11]=12;

WScript.Echo(str2[iii]);

[/BEET DI HE
if(str2[iii]==1) num12[0]=0;

else if(str2[iii]==2) num12[1]=0;
else if(str2[iii]==3) num12[2]=0;
else if(str2[iii]==4) num12[3]=0;
else if(str2[iii]==5) num12[4]=0;
else if(str2[iii]==6) num12[5]=0;
else if(str2[iii]==7) num12[6]=0;
else if(str2[iii]==8) num12[7]=0;

==9) num12[8]=0;

10) num12[9]=0;

11) num12[10]=0;

else if(str2[iii 12) num12[11]=0;

else if (str2[iii]==0) iii=OBJMUN12_12; //#8(F» 0 i b — T ST %

else if (str2[iii

else if (str2[iii

]
]
]
]
else if (str2[iii]
]
]
]
]

var set_num = objnum_st[st_index]; // 7 + ) X % DA

st01=
"@echo off"+'¥n'+
"setlocal"+"¥n'+
"set RC=robocopy.exe"+'¥n'+
"set SRC=D:¥¥_tori¥¥pattern"+'¥n'+
"set DST=D:¥¥ tori¥¥Set¥¥"+set_ num+'¥n'+
"set LOG=%USERPROFILE%¥¥Desktop¥¥Copy.log"+"¥n'+"¥n'+
"set F12_1=1-"+num12[0]+"¥n'+
"set F11_2=k-"+num12[1]+¥n'+
"set F10_3=j-"+num12[2]+'¥n'+
"set F9 4=i-"+numl12[3]+"¥n'+
set F8 5=h-"+numl2[4]+"¥n'+
set F7_6=g-"+numl12[5]+¥n"+
set F6_7=f-"+numl2[6]+'¥n'+



n

set F5 8=e-"+numl2[7]+¥n'+

set F4 9=d-"+numl12[8]+¥n'+

"set F3_10=c-"+num12[9]+¥n'+

"set F2 11=b-"+num12[10]+'¥n'+

"set F1_12=a-"+numl12[11]+'¥n'+'¥n'+

"set OPT=/E /LOG:%LOG% /XD ¥"Set¥"
/XF %F12_1%.* %F11_2%.* %F10_3%.* %F9_4%.* %F8_5%.* %F7_6%.* %F6_7%.* %F5_8%.* %F4_9%.* %
F3_10%.* %F2_11%.* %F1_12%.*"+'¥n'+'¥n'+

"if not exist %9SRC% goto errorl"+"¥n'+

"if not exist %0DST% mkdir %DST%"+"¥n'+"¥n'+

"%RC% %SRC% %DST% %OPT%"+"¥n'+"¥n'+

"goto end"+"¥n'+'¥n'+

n

"errorl"+'¥n'+

"echo 2=, 7% %SRC% MFEAELETHA, "+¥n'+
"goto end"+"¥n'+'¥n'+

":end"+'¥n'+

"endlocal"+'¥n';

var fs2 = WScript.CreateObject("Scripting.FileSystemObject");
[/EEIART 7 A MERL

var file = fs2.OpenTextFile(set_path+set_num-+".bat", 2, true, 0);
file. Write(st01); // 7 7 4 LE & A A

file.Close(); // 7 7 A2 —X

st_index++;

}

objnum_index++; //7 7 N X Z{DFFVAN—EA VT v IR % T T A

file2.Close(); //7 7 A2 v —X



